DOCKETED					
Docket Number:	23-IEPR-05				
Project Title:	Accelerating Distribution Grid Connection				
TN #:	250048				
Document Title:	Presentation - SCE's Distribution Generation Interconnection and Load Energization Processes				
Description:	4.B Mark Esquerra and Brandon Tolentino				
Filer:	Raquel Kravitz				
Organization:	SCE				
Submitter Role:	Public Agency				
Submission Date:	5/8/2023 12:24:45 PM				
Docketed Date:	5/8/2023				

SCE's Distribution Generation Interconnection and Load Energization Processes

May 9, 2023



Distribution Load Energization and Generation Interconnection Tariffs

Distribution Load Energization Tariffs



Distribution Generation Interconnection Tariffs



SCE projected to experience fastest load growth in decades (~8% growth over the years 2023 - 2028), per 2022 CEC IPER

2

Distribution Load Energization Process



Load Energization Process



Useful links:

- 1. SCE's Local Planning Timeline (https://www.sce.com/sites/default/files/inline-files/LocalPlanning_WorkOrderTimelinePlanner.pdf)
- 2. SCE's Applicant Design Process (https://www.sce.com/sites/default/files/inline-files/NDPPM_ApplicantDesignProcessOverview_0.pdf)

Energy for What's Ahead®

Typical Energization Process Delays and Hurdles

- Customer Application Processing
 - Incomplete Applications
 - Inaccurate information on application
 - Delays in submittal (maps, grants, all requirements, etc.)
- Engineering & Design
 - Variability in amount/size of requests
 - Scope of job (larger project = longer timelines) or changes in scope of job (size, timeline or location)
 - Delays in permitting, environmental, state/local/federal government requirements, rights checks, and facility inspections
 - System capacity constraints and associated timelines for projects to increase capacity
 - Delayed communication from customers
- Customer Requirements
 - Customer delays in submitting payment/contracts
 - Inaccurate installations of ducts, panel and/or trenching
 - Inability to obtain city/county release
- Scheduling
 - Storm/emergent conditions cause scheduling delays
 - Supply chain challenges for SCE and for customer
 - Unable to schedule work for construction until all requirements have been met by customer
- Construction & Final Accounting
 - Customer site issues can cause construction delays

- Areas of focus
 - Additional personnel to handle requests (engineers, planners, project manager, line crews)
 - Further development of existing tools like DRPEP
 - In development of an online application process for new business requests
 - Provide additional information on SCE.com that outlines processes more clearly for customers and developers
 - Continue customer outreach for developers & customers to educate on SCE requirements, processes, and timelines and reduce construction delays
 - Creating exception process to allow customer to phase in load ahead of full capacity needs that may require a system upgrade project
 - Continue development of temporary power service bridging solutions, including project staging, if available
 - Streamlining process to proactively increase system capacity to meet load growth needs
 - Improving permitting/environmental processes - providing electronic solutions

5

Distribution Generation Interconnection Processes



Generation Interconnection Processes (High-Level Timeline) For Illustration Purposes Only



Fast Track Process



NEM 2.0 Applications Received



Energy for What's Ahead $^{\circ}$

Typical Interconnection Delays and Opportunities

Potential Reasons for Delay

Application Processing

- Application information not complete
- Applicants making changes during interconnection process
- High volume of applications leads to review delays

Technical Studies

• Applicants making changes during interconnection process

Interconnection Agreement

- Delays in customer payment
- Integrity of processes (e.g., Customer reaching out trying to start project implementation before kick-off), which consumes times for individuals involved

Project Implementation

- Supply chain delays
- Weather related delays
- Permitting and project line routing
- Outages to complete construction must be coordinated with other projects
- High level scope that requires design changes due to discrepancies between desktop analysis and installed equipment

Opportunities

- Early engagement with the utility
- Developers to leverage consulting firms with expertise in California generation interconnection processes
- Development of new interconnection tools (enhancement to existing tools) to streamline interconnection studies
- Limit when and how interconnection requests are changed during the Interconnection process
- Streamline permitting and licensing for infrastructure development

Appendix



Independent Study Process / Cluster Group Study



Distribution Interconnection Portfolio

Interconnection Status	PTO Issued			Queued		
Tariff	Total Nameplate (MW)	Project Count	Average Size/Project (MW/Project)	Total Nameplate (MW)	Project Count	Average Size/Project (MW/Project)
NEM	4,964	594,563	0.0083	2,853	142,777	0.0200
Others	0	3	0.0551	58	15	3.8899
QF	21	38	0.5546	4	1	3.9000
Rule 21 Export	236	161	1.4675	243	74	3.2818
Rule 21 Multi-Tariff	0	0	0.0000	1	1	1.0000
Rule 21 Non-Export	719	1,339	0.5373	155	257	0.6029
WDAT	789	158	4.9942	638	110	5.8015
Total	6,730	596,262	0.0113	3,952	143,235	0.0276

